Accounting Costs versus Economic Costs
Terms: Economic profit, accounting profit, and normal profit

You, the worker, are trying to decide if you should open your own accounting firm or work for an existing firm.

The inherent pros and cons of the decision weigh out to be even, and your decision comes down to wages.  For example, you are indifferent about working for yourself versus working for a company. 
Opening your own firm

Revenue


$100,000

Expenses


Lease


$8,000


Office Asst.

$10,000


Marketing

$8,000


Health Benefits

$10,000


SS & Medicare

$7,000

Expenses 

$43,000

Accounting Profit

$57,000

Normal Profit is what you would be earning elsewhere. These amounts posted below take into consideration work experience.  
If you work for a firm your salary will depend on your experience. 

Starting Salary



$50,000

Mid-level salary



$68,000

Partner




$125,000

In this example the accounting profit is $57,000

How will the worker make his/her decision – should I work for myself or take the job offered to me by the firm? By calculating the economic profit or loss of the choice.

An economist measures the opportunity cost (implicit) along with the actual out of pocket expenses (explicit).

If you were just starting out in the field your economic profit of starting your own firm would be $7000.

Accounting profit – opportunity cost (salary you could get working for a company) = economic profit

$57,000 - $50,000 = $7000

Accounting profit – normal profit = economic profit (loss)

A mid level manager would have a loss of $11,000.

A partner would loss $68,000!

*The company will pay health benefits, social security and medicare taxes. 

